DOC273.99.90487

LZX958, LXZ461.99.00007, LZX957, LZY767

LZX958

LXZ461.99.00007

LZX957

S




8x (M8 x 130)

PR =

— e e - e e e = = = = = = = = - - = = - = = = = = e = = = = = = = = = = = ——

72 N N
! s © [ /FTTTTTT T N
o PR
“ o W ﬂ "\ “ " _ !
! SN I oo _ '
[ x 0 | T & |
! N _ by 8 O |
| G " | m J |
_ _ _ _ - R |
“ g ¢ & ! vy !
@ s 3% R _
2

S =° R toE w0 _
IR X 0 @ 1oE " - ,KHV \\
HG /Agé_m.nﬂ IIIIIIIIII
-l s “ — I T
_M _W"__
| [ [
| | % ooy
| | oy
I I L T
| \ L
I N — - P
I [
_ B
| lo |
! Pt Lo
\ ;o

N

Om%%u
—
\\"// /
| o

}
D
o =
o "6.
X 18
| 1 N
Y 2R
A
TR
\ \s \

- - - - - - - - - —— —n e - en en en e En en e e e En e - -

- - - - - - - = = = = —— =




LZY767

LXZ461.99.00007

LZX957




<

@ M5 x

M5
30







N

M6 x 65/110

(=]



<

D: 25-75 mm [1.00-2.95 in] B: 40-90 mm [1.57-3.54 in]

|
|
|
|
|
ot < 25 mm [1.00 i : H: 40-68 mm [0.20—2.67 in]
|
|
|
|
]

h1: 850—-1200 mm [33.50-47.25 in]
h2: 580-800 mm [22.80-31.50 in]
Ah: 300-620 mm [11.80-24.40 in]

a: <25 mm [1.00 in]
h1: 850-1200 mm [33.50-47.25 in]
h2: 580-800 mm [22.80-31.50 in]
Ah: 300-620 mm [11.80-24.40 in]

M8 x 130

M8 x 130







4C

M8 x 130













M6 x 65/110

13




14



‘~

=
w

=

EN Manufacturer supplied parts User supplied parts Do one of these options Look
DE Vom Hersteller bereitgestellte Teile Vom Benutzer bereitgestellte Teile Flhren Sie eine dieser Optionen aus | Anschauen
IT Parti fornite dal produttore Parti fornite dall'utente Eseguire una di queste opzioni Osservare
FR Pieces fournies par le fabricant Piéces fournies par I'utilisateur Choisir I'une de ces options Regarder
ES Piezas suministradas por el fabricante Piezas suministradas por el usuario Realice una de estas opciones Observe
PT-PT Pecas fornecidas pelo fabricante Pecas adquiridas pelo utilizador Seguir uma destas opgdes Observar
PT-BR Pecas fornecidas pelo fabricante Pegas fornecidas pelo usuario Faga uma destas opgdes Olhe
CS Dily dodané vyrobcem Dily dodané uzivatelem Provedte jednu z téchto moznosti Podivejte se
NL Door fabrikant verstrekte onderdelen Door gebruiker verstrekte onderdelen Doe een van deze opties Kijk
DA Producent leverede dele Bruger leverede dele Veelg en af disse muligheder Se
PL Czesci dostarczone przez producenta Czesci dostarczone przez uzytkownika Wykonaj jedng z tych opcji Obserwuj
SV-SE Fran tillverkaren medféljande delar Delar som tillhandahalls av anvandaren Folj ett av féljande alternativ Titta

Fl Valmistajan toimittamat osat Kayttéjan hankkimat osat Tee jokin vaihtoehdoista Katso
BG MpepocTaBeHn OT NPOU3BOANTENS YacTu MpepocTaBexn oT noTpebuTens Yyactu M3BbpLueTe efHa oT Te3n onuum mepaiite
HU Gyarto biztositotta alkatrészek Felhasznalo biztositotta alkatrészek Végezze el ezen opciok egyikét Néz
RO Piese furnizate de producator Piese furnizate de client Executati una dintre aceste optiuni Priviti
LT Gamintojo tiekiamos dalys Vartotojo tiekiamos dalys Atlikite kurj nors vieng veiksmag Zitrékite
RU [etanu, noctasnsiemMble Npon3BognTeNem [letanu, noctaBnsiemMble Nonb3oBaTenem BbibepuTte oanH 13 BapuaHToB Cmotpute
TR Uretici tarafindan saglanan pargalar Kullanici tarafindan saglanan parcalar Bu seceneklerden birini uygulayin Bakin
SK Diely dodané vyrobcom Diely dodané uzivatelom Vykonaijte jednu z tychto moznosti Pozrite si
SL Deli, ki jih dobavlja proizvajalec Deli, ki jih priskrbi uporabnik Izberite eno od moznosti Glejte
HR Dijelovi koje isporu¢uje proizvoda¢ Dijelovi koje isporu¢uje korisnik Odaberite jednu od ovih moguénosti Pogledajte
ET Tootja tarnitavad varuosad Kasutaja tarnitavad varuosad Tee Uks nendest valikutest Vaata
AR Axbad) 4S5l b i 5 ) wdadl) i) a i gy Al ol LAl e aaly 8 3k
ZH-CN ik ARG 21 R SR A TR A T HE
JA A =71 — HLERE 2 — 4 — U INL5D—DEFEIITT S "3
KO ANx=QA &5 F-F AREA}F T = T s Fds AL w7
TH Fudausam Taodnan FudausamTaodld famsadenla ddennils 9

EL E¢aptipara mapexdpeva atd Tov KataokeuaoTh | ESaptripata rapexopeva atod Tov XpAotn | EkteAéoTe pia ammd auTég Tig eTTAOYEG Korragre

15



PN

i

»
EN Use two people Use fingers only Do steps again
DE Zwei Personen notwendig Nur Finger verwenden Schritte wiederholen
IT Impiegare due persone Utilizzare solo le dita Ripetere i passaggi
FR Deux personnes nécessaires Utiliser uniquement les doigts Répéter les étapes
ES Requiere dos personas Use solo los dedos Repita los pasos
PT-PT S&o necessarias duas pessoas Utilizar apenas os dedos Repetir os passos
PT-BR Requer duas pessoas Use apenas os dedos Repita as etapas
CS Jsou potfeba dvé osoby Pouzivejte pouze prsty Provedte kroky znovu
NL Gebruik twee mensen Gebruik alleen vingers Voer stappen opnieuw uit
DA Veer to om opgaven Brug kun fingrene Udfer trinnene igen
PL Wykonuj w dwie osoby Uzywaij tylko palcow Wykonaj czynnos$ci ponownie
SV-SE For tva personer Anvand endast fingrar Upprepa stegen
Fl Edellyttaa kahta henkiloa Kayta vain sormia Suorita vaiheet uudestaan
BG M3non3Bante ABama ayLum M3nonsBaiite camo npbCTH M3BbpLUeTE CTBNKUTE OTHOBO
HU Két ember végezze Csak az ujjait hasznalja Ismételje meg a lépéseket
RO Utilizati doua persoane Folositi doar degetele Parcurgeti din nou pasii
LT Darykite dviese Naudokités tik pirStais Pakartokite veiksmus
RU TpebyeTcs y4acTue AByX YeroBek Tonbko NpW NOMOLLM NanbLeB BbinonHuTe waru cHosa
TR Iki kisiden yararlanin Yalnizca parmaklarinizi kullanin Adimlari tekrar uygulayin
SK Zapojte dvoch ludi Pouzivajte iba prsty Vykonajte postup znova
SL Delo za dve osebi Uporabljajte samo prste Ponovite korake
HR Potrebne su dvije osobe Koristite samo prste Ponovno izvrsite korake
ET Kasuta kaht inimest Kasuta ainult sérmede joudu Tee toimingud uuesti
AR Ol aadiul Lk a o) padinl AT B e il shall 3
ZH-CN e AAT TR TR PAT %P BR
JA TATBIRD FCHAE bO—HEBI%D
KO FAkghol o] AgaHAl Al 2 E7heRt ALg GAE thA] 523
TH Haoanu i uinu iuaemiuinate
EL Xpnaigotroijote dUo aToua XpnoiyotroinoTe Yovo dAKTUAQ EkteAéoTe Ta BApara ava

HACH COMPANY World Headquarters
P.O. Box 389, Loveland, CO 80539-0389 U.S.A.

Tel. (970) 669-3050

(800) 227-4224 (U.S.A. only)

Fax (970) 669-2932
orders@hach.com
www.hach.com

HACH LANGE GMBH
Willstatterstrae 11

D-40549 Dusseldorf, Germany
Tel. +49 (0) 2 11 52 88-320
Fax +49 (0) 2 11 52 88-210
info-de@hach.com
www.de.hach.com

HACH LANGE Sarl
6, route de Compois
1222 Vésenaz
SWITZERLAND

Tel. +41 22 594 6400
Fax +41 22 594 6499

@-=-13

© Hach Company/Hach Lange GmbH, 2014, 2024. All rights reserved. Printed in Germany.
LT

05/2024, Edition 3



